Auxiliary Problems for Chapter 32
1.
A publicly traded company had earnings (profit) of $1 million in the last fiscal year.  The company has 100,000 shares of stock in circulation. The price of the stock is $50 per share. What is the company’s P/E ratio?

2.
If a $36 stock pays a quarterly dividend of $0.60, what is the implied rate of return?

3.
If a $70 per share stock has a P/E ratio of 35 and pays out 10 percent of its profits in dividends, what is the implied rate of (dividend) return on the stock?

4.
A $1,000 bond with a 5 percent coupon interest rate will pay you $1,050 one year from now. Assume the interest rate for a similar bond issued today is 8 percent. How much is the first bond worth now?

5.
Calculate the present discounted value of $5,000 to be received in 3 years if the market rate of interest is:

a) 
0 percent

b)
5 percent


c) 
10 percent

6.
Calculate the current yield on a $1,000 bond with a 4 percent coupon if its market price is:
a) 
$850

b) 
$1,000

c) 
$1,100







